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answers precisely in the main answer-
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Answers of short answer type questions must be given in sequential order. Similarly all the parts of one
question of descriptive part should be answered atone placeinthe answer-book.
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Write your roll number on question paper before answering of the questions.
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Question paper consists of Two parts A, and B.
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PART -A : 20 Marks #TT — 312 20 Id

PartA is compulsory having 10 very short answer-type question
The first question is based on knowledge, understanding and app

syllabus.
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PART - B: 60 Marks @17 — @ : 60 @
Part B of the of the question paper is divided into four units comprising question number 2-5. There is one
descriptive question from each unit with internal choice. Each question will carry 15 marks.
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with a limit of 20 words) of two marks each.
lications of the topics/text covered in the
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PART - A/wm -~ &

(a) Whnmehﬂmnhlb?-*eloudrmwllmfmlhmm
NH_ AL 10, ZnC) NF,, CHCocn,no0®, SO, CO,
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NUL AL, 1,0, ZoC1, BF,, CHLCOCH,, 1,0%,50,Co,
(®) Amange the following carbocation in order of increasing stability. -
(CH)-C*,.cn, = on”, CH,=CH-CHS (CH),CH*
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(CHL-C.Cn, =’y on,-cn ~CHS (cny),cn®

(¢) Wnte IUPAC names of the followings with E/Z nomenclature.

H,C CH,C)
(1) C=C
H cl
) Q - - Br
(1) g o8 C=C __ .
(d) What is recemisation? Explain.
o a €2 e |
(¢) What is Huckle's (4n+2) n rule? Explain.
Fo & s T 2 g |
(f) What s ropilium salt?
gravgforam orav am &2
(g8) Whatis Birch reduction?
fad sroags gar #?

(h) CH, groupis o/p dirceting, explain.
HIR1EA, CH, W5 o/p &M 8

(1) What do you mean by moleculerity and order of mcuon? .8
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PART - B/¥T1 — &
2. Whnite short notes on. (any three)

wira A R faifted (g )
(a) Carbanions

T
(b) Free radical

b A GL
(c) Nltrene ’

QL T4E
(d) Benzyne

T
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(8) Discuss briefly following methods for the determination of reaction mechanism.
SR ) PRI s 3 @ fard Pret Ryt 1 s § o 39 |
(1) Product analysis.
Jre R
(ii) Determination of the presence of intermediate
wad ) Sufefd 2 ggar
(iii) Kinetic studies.
nfo@rg seg
3. (a) Explainthe following terms with suitable example.
Py wftsarell &1 S SaTevvr JaR FHE |
Inversion, Retantion and Recemization.
farrer @1 wetge, afRad= iR RidieRor
(b) Write [UPAC name and E/Z configuration of the following melecule.
Preifafara D@ @ IUPAC 7™ 20 Y 99d E/Z fa=urw fofed |

CH, _H CH, _H CH, _H
B C C=C
H,C, H H COOH
OR/ @Yqy
(a) What are conformations? Explain different conft t -butane wi
projection formula. 4 M with the help
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(b) What s difference between configuration and conformation. r
fR=ard) va weda wwmaad) ¥ swr g |
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4 (a) Define Aremancity u detail
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(a) l_"..lphmwh)'-NO.FWPildemiﬂmamdm-dim:tinsbui"N".B’WP“"“"m“"mmum“‘:

para directing.
wmsd M —NO, e Pifkra ers M m - (e Rewd
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(b) Discuss the mechanism of the following reactions:-
fy= s oY Rrnfaf o Adun @ -
(1) Fnadal-Craft's Acylation.
AES arvew e

(1) Sulphonation
wRrhE

S. (a) What you meant by order of reaction? Describe suitable method by which arder of reaction can be
determined. 10
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(b) A First order reaction completes 40% within 50 minutes. Calculate its rate constant.
(log $ = 0.6990) (log 3=0.4771)
v wum S & wRfEur so e § s0% ol @t ) gave & Poars sm B

OR/ Jyar
Explain the following (any three) $x3=15
=1 &) s (@7 =)
(a) Pscudo order reaction.
oegn eif2 &) sffEm

(b) Halflife penod for first order reaction.
g B # s & fag snt smea
(c) Collision theory
ZwR fagr
(d) Activation coergy
afyoo Hot
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2x5=10



